
 House Side Shield Installation:
1.Using T-20 Torx bit, remove (4) 8-32 x 0.5
screws from the corners of each LED bezel.
2.Place the House Side Shield on top of the
LED bezel and match the direction of the LED
bezel arrow.
3.Using T-20 Torx bit, replace the screws from
step 1 with (4) 8-32 x 0.75 screws and attach
the House Side Shields.

8-32 x 0.5 Screw (4)

8-32 x 0.75 Screw (4)LED Bezel Arrow

House Side Shield

 Shipping Package Contains:
 (4)       House Side Shield
 (16)     8-32 x 0.75in Torx Screw

Catalog Number:  ARA3-BC
Instruction Sheet: 93073569

ARCEOS (ARA3) HOUSE SIDE SHIELD
ACCESSORY KIT

Compatible with: ARA3

Hubbell Lighting • 701 Millennium Boulevard • Greenville, SC 29607 • Phone: 864-678-1000
Due to our continued efforts to improve our products, product specifications are subject to change without notice.
© 2016 Hubbell Lighting • All Rights Reserved • For more information visit our website: www.hubbelloutdoor.com

Printed in USA


